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RO/ARO- G.S. TEST PAPER- 4

Consider the following statement:

1. The southernmost part of India is Pygmalion Point.

2. The Climate of India is dominated by Tropical
monsoons.

Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. India's shortest border is with Afghanistan.

2. Five Indian State touches the border of China.
‘Which of the following statements is/are Correct?
(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are Correct?

1. The Shiwalik range is located between the Great Plains
and the Lesser Himalayas.

2. The Great Karakoram range is also known as the
Krishnagiri range.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

‘Which of the following statements is/are Correct?

1. The highest point of Mizo Hills is Blue Mountain.

2. Kumaon Himalayas extend from Satluyj to the Kali
River.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. 77% of the drainage area of the country is oriented
towards the Bay of Bengal.

2. 33% of the drainage area of the country is oriented
towards the Arabian Sea.

Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2
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Consider the following statement:

1. The Indus River flows between the Ladakh and Zanskar
ranges.

2. Gartang, Dras and Shigar are Himalayan tributaries of
the Indus.

Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Which of the following statements is/are Correct?

1. The Jhelum River has its source in the southeastern part
of the Kashmir Valley.

2. The Chenab River originates near the Bara-Lacha Pass.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

Which of the following statements is/are Correct?

1. The Ravi River drains the area between Pir Panjal and
Dhaola Dhar range.

2. The Beas River originates near Rohtang Pass.

Select the correct code given below:

(a) 1 Only

(b) 2 Only

(c) Both 1 &2

(d) Neither 1 nor 2

Consider the following statement:

1. The Satlyj River rises from Manasarovar Rakas Lakes.
2. The Satlyj River was joined by Beas at Harike.

‘Which of the following statements is/are Correct?

(a) 1 Only (b) 2 Only

(c) Both1 &2 (d) Neither 1 nor 2

Consider the following statement:

1. The Brahmaputra River forms the largest delta in the
world.

2. The Yamuna River rises from the Bandarpunch glacier.

‘Which of the following statements is/are Correct?

(a) 1 Only

(b) 2 Only

(c) Both1 &2

(d) Neither 1 nor 2

‘Which of the following dams is built on the Chambal River?
(a) Gandhisagar dam

(b) Yamdrok Dam

(c) Singur Dam

(d) Sriram Sagar Dam

Which of the following is the tributary of the Chambal
River?

(a) Banas
(c) Betwa

(b) Ken
(d) Sind

10.

11.

12.

fAafafad e R R =
1. Ry 7 TErg SR S Ao & i gl &
2. TRAAT, &9 3R AR 7<) & geres fRarerd) Al &1

f=fofea § @ oF 91/ sy agt g/8?
(a) hae 1 (b) Fae 2
(c) 18R 2 &t (d)yTat1sRas2

ffeafafad § @ o a1/ we= 98 &/8?

1. Sret A& 1 IgH HWR G & Sforgdf v A
2. e 7 &1 3gH IRI-ara &1 & Repe §1

1 Ry 7T T&l s &1 TET R

(a) a1

(b) haet 2

(c) 1 3R 2 g+t

(d)yTFat1sikas2

fefafaa § @ &9 a1/ wu= 98 &/8?

1. et 7 IR Gotrer ofiR efemer udaqaTet & s sruang &
ST & a1 F8dT 81

2. &Y ) T IgH AgdiT &2 & Repe g1

i U T OEt s 1 T

(a) a1

(b) haret 2

(c) 1 3R 2 gt

(dysat1siRag2

frfafed dvm R AR &
1. Al 4l AFERIER / A9 e § Peperdt 81
2. gaqst 4l gRe H =1 @ e oft a1 s ¢ gRek & ure

qaqel ¥ et 81
ffafEa 3 9 & a1/a wua o) 8/82
(a) aheret 1 (b) Feret 2
(c) 1 3R 2 &=t (d)Tat13RaT2
fafafad s R R &=

1. SgIgH el faxa o1 qad a2 el S &
2. THATET SRy RRR & Feperd 81
ffefafad § @ &9 a1/ wu= 98 &/8?
(a) Thaat 1

(b) Thaat 2

(c) 18R 2+t

(dyaat1sRaer?2

F=ffea 4 9 &F a1 sty deer 7E W 5= a1 [ &2
(a) TiEfETR Ty

(b) THEIE ity

(c) RiR @iy

(d) sk R TiY

frafafEa § @ a9 @ T 78 6 ggraes T8 82

(a) I (b) &

(c) et (d) R&er

L1y J MAADH

CALL: 0522-4623578

. 9911999187
www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

World + Indian Geography + Census +
April Current Affairs 2



13.

14.

15.

16.

17.

18.

19.

20.

21.

Which of the following passes is not situated in Arunachal
Pradesh?

(a) Bom Di La

(b) Dihang Pass

(c) Dipher Pass

(d) Lipu Lekh

Which of the following is the highest peak of the Aravali
Range?

(a) Guru Shikhar

(b) Dhupgarh

(c) Pachmarhi

(d) Kalasubai

Biligiri Rangan Hills belongs to which of the following
States?

(a) Karnataka

(b) Andhra Pradesh

(c) Telangana

(d) Jharkhand

Which of the following States comes under the Konkan
coast?

(a) Maharashtra and Goa

(b) Karnataka and Andhra Pradesh

(c) Maharashtra to Tamil Nadu

(d) Kerala and Karnataka

Tugela Falls belongs to which of the following countries?
(a) South Africa

(b) Venezuela

(c) India

(d) North America

‘Which of the following plains comprises the coastal areas of
Odisha?

(a) Utkal Plain

(b) Andhra Plain

(c) Tamil nadu Plain

(d) Eastern Coastal Plain

‘Which of the following soil groups is found in the Indo-
Gangetic-Brahmaputra River?

(a) Alluvial Soil

(b) Black Soil

(c) Red Soil

(d) Laterite Soil

‘Which of the following groups of Soil covers about 15% of
the total land area of the country?

(a) Black Soil

(b) Alluvial Soil

(c) Red Soil

(d) Laterite Soil

Where is Kalijai temple situated?
(a) Chilika Lake (b) Sambhar Lake
(c) Shivaji Lake (d) Indira Sagar Lake
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Which of the following rivers is the tributary of the Banas
River?

(a) Berach River
(c) Kuno River

(b) Shipra River
(d) Parwati River

Which of the following storms is beneficial to tea, jute, and
rice production in Assam?

(a) Norwester

(b) Kalabaisakhi

(c) Bardoli Chheerha

(d) Mango Shower

What is the position of India in Cotton production?
(a) First (b) Second
(c) Fifth (d) Fourth

‘What temperature is required to cultivate sugarcane?
(a) 21-27°C
(b) 30- 31°C
(c) 23-32°C
(d) 20- 22°C

Match List-I with List-IT and select the correct answer using
the codes given below the lists:

List-1 List-11

A. Konkan Coast | 1. Gujarat to Goa

B. Malabar Coast | 2. Tamil Nadu

C. Payan Ghat 3. Kerala

D. Utkal plain 4. Odisha
ABC D
@13 2 4
b) 1 4 3 2
42 3 1
@13 2 4

Match List-I with List-IT and select the correct answer using
the codes given below the lists:

List-I (River) | List-II (Origin)

A. Narmada 1. Maikala Range

B. Tapti 2. Multai Reserve

C. Sabarmati 3. Vindhyas Range

D. Mahi 4. Aravali Hills
ABC D
(@12 4 3
)14 3 2
42 31
@13 2 4
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Match List-I with List-IT and select the correct answer using

the codes given below the lists:

28. - 1 e I & ary gAfer o ofik g & 919 R g

IS I ITTNT FXh Tl IR I

- . - - - 1 (enfaes @fae) | g=ft- I (wat=a fAwfa)
List-I (Metallic minerals) | List-II (Highest Producer)
A. Tron 1. Chile A. it 1. Feht
B. Copper 2. Australia B. qran 2. sffefer
C. Gold 3. Canada C. g 3. TSt
D. Zinc 4. China D. fSie 4.F=
ABC D ABC D
@21 3 4 @21 3 4
143 2 )1 4 3 2
©21 4 3 ©@21 4 3
@13 2 4 @13 2 4
29. Match List-I with List-II and select the correct answer using 29. Tl 1 g I & ary gafad o ok gt & i g g

IS T ITTNT FXch Fal SR -

the codes given below the lists:

List-I (Non-metallic minerals) | List-1I (Highest Producer) gHl- 1 (srurf@es @faer) | geft- 1 (wate fmtar)

A. Mica 1. Odisha A. 319 1. anfeem

B. Limestone 2. Andhra Pradesh B. TAT URR 2. 3T UesT

C. Dolomite 3. Rajasthan C. SitrEe 3. oI

D. Asbestos 4. Madhya Pradesh D. TR 4. T TR

ABC D

(@24 1 3 ABC D
® 1432 ViR YE
© 42 3 1 )1 4 3 2
@13 2 4

30. Match List-I with List-II and select the correct answer using

the codes given below the lists: 30. Tt- I I gE- I 9 gafcod o ok gRat & - kg g @t
ST JUINT hch el IR g
List-T (Channels) List-1I ﬁiﬁ- I (1) ﬁ?ﬁ' I
A. Duncan Passage 1. Great Andaman and Nicobar A E ) 1. % & e

B. Ten Degree Channel 2. Little Andaman and South

Andaman B. & f&ift <« 2. g 3ieH SR gfaror sigam
C. Eight Degree Channel | 3.Island of Minicoy and Maldives C. a3 f&dft <=t 3. fAera giu ok Arerdta
D. Nine Degree Channel | 4. Island of Minicoy and D. =t fetft 91 4. fafasia giu ofk dergia
Lakshadweep
ABC D ABC D
o . @21 3 4
?14332 () 143 2
()4231 (© 42 3 1
© @13 2 4
@13 2 4
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Which of the following statements are NOT correct

regarding the solar system?

1. Ganymede, the satellite of Saturn, is the largest satellite
in the solar system.

2. Neptune is surrounded by methane gas rings of sub-zero
temperature.

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

Sun's halo is produced by the refraction of light in
(a) Water vapour in stratus clouds

(b) Ice crystals in Cirro-Cumulus clouds

(c) Ice crystals in Cirrus clouds

(d) Dust particles in Stratus clouds

Consider the following statements:

1. Garo and Khasi hills are extensions of Purvanchals in
Meghalaya forming water divide between Brahmaputra
and Barak River.

2. Rajmahal Hills are formed from rocks dating from the
Jurassic Period and named after the town of Rajmahal

which lies to the east in the state of Jharkhand.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Match List-1 with List-2 and select the correct answer from
the code given below

(Boundary Line) (Countries)
(a) Blue Line 1. Lebanon and Israel
(b) 31st parallel 2. Iraq and Iran

(c) 38th parallel
(d) 22nd Parallel

3. Canada and the USA
4. Sudan and Egypt

Code:

A B C D
(@1 2 3 4
) 3 4 1 2
(© 2 1 4 4
@2 1 3 4

Arrange the Islands of Japan in increasing order according
to geographical area:

(a) Hokkaido, Honshu, Shikoku, Kyushu

(b) Hokkaido, Shikoku, Kyushu, Honshu

(c) Honshu, Hokkaido, Shikoku, Kyushu

(d) Honshu, Hokkaido, Kyushu, Shikoku

‘Which among the following is not correctly matched?

Lake — Country
1. Erie — U.S.A. - Canada
2. St. Clair — Australia
3. O’ Higgins — South America
4. Lake Assal — Jordan
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Match List-I with List-II and select the correct answer from
the codes given below the lists:

List-I List-IT
(Dams) (Country)
(a) Vajont Dam 1. Italy
(b) Hoover Dam 2. USA
(c) Mangla Dam 3. Venezuela
(d) Guri Dam 4, Pakistan
Code:

A B C D
@ 1 2 3 4
(b) 2 4 1 3
)1 2 4 3
@@ 2 1 3 4

Which of the following is NOT correctly matched?

(City) (Location on the bank of river)
(a) Lahore (Pakistan) Ravi river

(b) Khartoum (Sudan) Zaire (Congo river)

(c) Madrid (Spain) Manzanares river

(d) Asuncién Paraguay

Which one of the following countries has the highest
number of islands?
(a) Philippines

(c) Sweden

(b) Indonesia
(d) Malaysia

The Tornadoes are very strong tropical cyclones originating
in:

(a) Caribbean Sea
(c) Arabian Sea

(b) Coral Sea Sea
(d) Kara sea

A band of wind called ‘Jet Stream’ is found in—
(a) Lower Troposphere (b) Middle Troposphere
(c) Upper Troposphere (d) Whole Troposphere

The Faroe is a group of islands lying in the Atlantic Ocean
between Scotland and Iceland. This island group is also
known as

(a) Island of Sheep

(b) Island of Goats

(c) Island of Cows

(d) Island of Buffaloes

Given below are two statements, one labelled as Assertion

(A) and other labelled as Reason (R). Select your answer

from the codes given below:

Assertion (A) : Land surface is heated more quickly and to

a greater extent than the water surface when subjected to

equal amount of insolation.

Reason (R) : The land is opaque while water is transparent

to solar radiation.

Codes :

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A).

(c) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.
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(a) & (A) 3R (R) T 8, 3R (R) (A) T Tg! Tstenor g1

(b) (A) 3R (R) 1 T §, A (R) (A) o1 T Tshtensor 818 |
(0) (A) T= 8, wifeh (R) Terdl &1

(d) (A) TTeTd 8, oifeh (R) &= 81
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45.

46.

47.

48.

49.

It is known that the atmosphere is divided into some layers.
In which one among the following layers, is the percentage
composition of Helium gas maximum?

(a) Troposphere

(b) Stratosphere

(c) Exosphere

(d) Ionosphere

‘What is the correct sequence from the smallest to the largest
grain of the following types of clastic rocks?

(a) Shale, sandstone, conglomerate, siltstone

(b) Shale, siltstone, sandstone, conglomerate

(c) Conglomerate, sandstone, shale, siltstone

(d) Sandstone, siltstone, conglomerate, shale

NOT match the following:
(a) Albert canal Connects Liege to
Antwerp via Hasselt.
Connects the North Sea
and the Rotterdam
Connects the Red sea
and the Oman sea

Elbe Estuary and Baltic sea

(b) New Waterway canal
(c) suez canal
(d) Kiel

Consider the following atmospheric conditions with

reference to Tropical cyclones.

1. High relative humidity.

2. Warm oceanic temperature.

3. Region lying between the tropics of cancer and
Capricorn.

‘Which of the above motivate the development of cyclones?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

How much of the total surface area of the moon is never
visible from the earth

(a) 41 percent

(b) 47 percent

(c) 53 percent

(d) 59 percent

Arrange the following features formed by rivers in its course
starting from upstream:

1. Meanders

2. Falls

3. Delta

4. Oxbow

Lake Select the correct answer using the code given below:
(@2-1-3-4

(b)y2-1-4-3

(©01-2-3-4

d1-4-2-3

44,

45.

46.

47.

48.

49.

91 & foh arged $s wdl # {fog &) Feffea ward @
forgd giferam A9 i ufdsa v sifderaw &2

fAefafaa ueRr i Ffes gl # o1 I 998 93 Sl @t
e o AT §?

(a) A, TFSAT URR, hitertare, Reeeeq

(b) T, AT, T3 URR, HiTATHE

(C) TiATRE, SIS UeeR, A, ez
(

el dd s gafta a8 &

(a) SreuIé A8 g9 & ATEH  ofiST hi
Gead & sitgdt 81

(b) =g STerART g IJoc<! IFR ht e I
Sedt 8l

(c) WS TR T IR &t 3N IR 9
Ssdt 81

(d) ST Qos HgMT 3R dfeeeh 9R

SwTehfesiefia Tehardi & e # F=fafed argrsca Rafaat

R faRmR &1

1. I TUeT éarl

2. TTH GG dTaHH |

3. hh 3T 3R g & o fR_T &

SR & @ i TehdTd] oh [Ahrg ot HRA ahar 872
(a) chaet 1 iR 2

(b) et 2 3R 3

(c) Fhaat 1 3R 3

(d)1,238R3

HeHT &Y ol TG e Teha=T 9T gt @ ehoft Rars g 2 @
(a) 41 ufasra
(b) 47 ufasra
(c) 53 ufaera
(d) 59 ufaera

afRat gRT 3= UaTg & SR a4 arell Refaf@d fgiadarse

I U & Fch AT e
1. gHTEERATT 2. 3=
3. s& 4. et (TRYR)

deh e faq 1q e a1 IUTNT deeh Tl IR A
(@2-1-3-4
(b)2-1-4-3
(c)1-2-3-4
(d)1-4-2-3
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50.

51.

52.

53.

54.

Which one of the following is the correct sequence of the
descending order of the latitudinal zones of ocean salinity?
Use the codes given below to select the correct answer:

1. 10°N—I15°N

2. 15°N—40°N

3. 40°N—50°N

4. 50°N—70°N

Codes:

@1,32,4

() 2,1,3,4

(©2,1,4,3

(d1,4,3,2

Consider the following pairs :

(Name of the local Winds) (Related country)
1. Foehn - France

2. Zonda - Italy

3. Pampero - Canada

‘Which one of the above pairs is not correctly matched ?
(a) 1 and 3 only

(b) 2 only

(c) 2 and 3 only

(d) None of these

Match List- I with List- I and select the correct answer
using the code given below the lists :

List-1 List- IT
(Natural Vegetation) (Region)
A. Epiphytes 1. Mediterranean
B. Acacia 2. Equatorial
C. Baobab 3. Sahara
D. Cedars 4. Savanna
Code :

A B C D
(@ 1 2 3 4
b)) 2 4 1 3
© 1 2 4 3
@ 2 3 4 1

Statement I: The planet Neptune appears blue in colour.

Statement II: The presence of methane gas in the

atmosphere of Neptune is responsible for its colour

(a) Both the statements are individually true and Statement
II is the correct explanation of Statement I

(b) Both the statements are individually true but Statement
II is not the correct explanation of Statement I

(c) Statement I is true, but Statement II is false

(d) Statement I is false, but Statement II is true

Which of the following elements exhibit the following

properties?

1. It is the third most abundant element in the earth crust.

2. Tt exists in a stable combination with other materials
mainly silicates and oxides.

3. It has high strength-to-weight ratio.

(a) Magnesium

(b) Iron

(c) Aluminium

(d) Calcium

50.

51.

52.

53.

54.

fA=fofea & § o9 a1 serifa &3f & MR W gg™mRY
AGUTT ehT STaRIg! i &7
el IR g1 o forg i Ry 71Q s a1 Iui &<
1. 10°N—15°N 2. 15°N-40°N
3. 40°N-50°N 4.50°N-70°N
&S
(@1,3,24 (b)2,1,3,4
(€)2,1,4,3 (d)1,4,3,2
fFefafag Sifeal R R =
(=T garait <1 am) (wdfaa 2ar)
1. WF -G
2. Siter - geatt
3. =Rt - TS
IR gt H ¥ S 91 gAferd T8 82
(a) FaeT 1 3R 3
(b) Fas 2
(c) haeT2 3R 3
(d) 379 @ ig T&
get- [ ol gfi- 11 & a1 gafora o ofk gfal & i iy Mg
IS ST ITFNT ¥k Tal IR -
gHi-1 -1
(smepfares a=reafa) (&%)
A. ufterged/ sifdurey 1. YAEENTRG
B. §ee 2. foyaavaia
C. an3itame 3. GERI
D. q@E&R 4. gt
A

A B C D
(@ 1 2 3 4
®) 2 4 1 3
(© 1 2 4 3
(d 2 3 4 1
@A 1 : U= U8 Ao 31 1 g 3ar g1

&Y 1L ATZH & grdreRol # HidH 19 S IufRfd 38 31 dh

fog Ser &

(a) a1 YA AfgerTd €U § TG § 3R Y 11, sy I Ht 9gt
RS &

(b) & T eafarTd =9 T 9 § aAfch &ee I, s [ &Y
el T 61 8

() &Y 1 G 8, wifch Y= 11 Teid &

(d) U I 7T §, AfhT hea I 9T @

frffEa & @ w1 aa =it o vefia war 82

1. gg gt & quSt 7 fe”T 999 gR 9@ 8|

2. I 3= gHfdl g wu § Rfcrehe 3k siferrss & 4ry
R dais # Ji5E 81

3. 399 g9 IUId | I Afer Bl

(a) A= (b) =T
(c) Tgfafad (d) HfRmaT
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55.

56.

57.

58.

59.

Consider the following statements:

Statement-1: The value of gravity is greater at the poles and

less at the equator.

Statement-2: Temperature, pressure and density increase

with the increase in the depth of the surface inside the earth.

(a) Both Statement-1 and Statement-2 are correct and
Statement-2 is the correct explanation for Statement-1

(b) Both Statement-1 and Statement-2 are correct and State-
ment-2 is not the correct explanation for Statement-1

(c) Statement-1 is correct but Statement-2 is incorrect

(d) Statement-1 is incorrect but Statement-2 is correct

Consider the following statements:

1. Oceanic trenches are formed due to collision of oceanic
and continental crust.

2. Deepest ocean depth is measured at Mariana Trench
located North of Japan’s coast.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements:

1. The number of cyclones in the Arabian Sea before and
after the monsoon has increased over the years and is
attributed to climate change.

2. The Bay of Bengal and the Arabian Sea generates half of
the world’s cyclones.

‘Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements :

1. Length of a terrestrial mile is lesser than that of a
nautical mile.

2. Harmattan is a dusty land-wind of the East African
Coast.

3. Greece and Albania form a part of the Iberian peninsula.

Which of the statement(s) given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Consider the following statements:

1. A desert is a barren area of land where little precipitation
occurs.

2. The Sahara desert is the largest singles stretch desert.

3. The next biggest desert is the Great Australian desert.

Which of the statement(s) given is/are correct?

(a) 1 only

(b) 1 and 2

(c) 2and 3

(d)1,2and 3

55.

56.

57.

58.

59.

fAfafed we R R &

FHYH-1: TIATHYUT ehT AT ¢l R ek TAT YA 3T TR A

glar gl

THYF-2: Gt F IR TS TG o 1Y dTUAM, Ga1d 3R g9

SET gl

(a) FYA-1 3R HYF-2 T Tl § hU-2, HYF-1 HY Fgt
AT

(b) TYF-1 3R HYF-2 g Tl & hYA-2, HYU-1
&6 98! =T el 6

(c) TU=-1 T&T & Afh hY=T-2 Tod &

(d) Fu-1 7T & Afh Fwu-2 el 8

ffafEa weel R iR &

1. HETENRIY Wgd! g Gd HETE U Hdg o T &
At &1

2. g FH G feeh TS U de S SR A Ry AmiRaE

Sadadind g

IR & T i 91/9 Y T8t &/8?

(a) haeT 1 (b) Shaet 2

(c) 1 3R 2 gt (dyFat1siRagr2

e = &R AR

1. U o8 auf # 3RT IR # AFYA gd 4 JuRid Iehardi
&l T | gfeg; §S & SHhI BRUT Sfefary IRad g1

2. et i @TEt 3R 3RT UTR fakg & e Tshard I R
Bl

IR & T i 91/F T gt §/8?

(a) el 1 (b) et 2

(c) 13R2agAf (d)yTat1sRas2

ffafEa ey w TR &2

1. it Hier h a8 T Hie & HH gt & |

2. g3 gdt SMthiehl d¢ R Yo gord el gat 81

3. Mg iR SresnfAan Sgafam uragia @ fgw &1

IR T M Yl F T i 91/ 9t &/8?

(a) haeT 1

(b) Faer 2 3R 3

(c) a3

(d)1,238R3

fEfafad e R R =

1. A ff 1 Gk SOR &5 ¢ STl A aut gl Bl

2. ORI IEH Uohel fAR a1el T 981 A g1

3. STl a9 2T A e sireeforars ear &1

U Qe & @ B9 a1/ T 8/87?

(a) haet 1

(b) 132

(c) 2R3

(d) 1,23
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60.

61.

62.

63.

64.

65.

66.

Consider the following statements :

1. The Labrador current is a cold current in the North
Atlantic Ocean.

2. The Falkland current is a warm current that flows along
the Chile coast of South Pacific Ocean.

Which of the statements given above is/are correct?

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

Which space agency is connected to the "Proba-3 Mission,"
which will be launched aboard ISRO's PSLV?

(a) Roscosmos

(b) ROSA

(c) ESA

(d) ISA

What will be the focus of World Earth Day in 20237
(a) "Earth is everything"

(b) "Pride in Our Planet everyday"

(c) "everyday every wishes for our Earth"

(d) "Invest in Our Planet"

The first AIIMS of North-East India was established in
which city?

(a) Kohima

(b) Guwahati

(c) Gangtok

(d) Imphal

In which state was the 'Vibrant Villages Programme'
recently introduced by Union Home Minister Amit Shah?
(a) Arunachal Pradesh

(b) Karnataka

(c) Maharashtra

(d) Uttar Pradesh

How many more tigers will there be in India by 2022,
according to the Tiger Census?

(a) 2767

(b) 2945

(c) 3167

(d) 3269

Which of the following statements on the "Water Bodies:

1st Census Report" that the Ministry of Jal Shakti released

in April 2023 is/are "correct"?

1. West Bengal tops the list of States with the most ponds
and reservoirs, according to the survey.

2. While Andhra Pradesh (AP) has the most tanks, Tamil
Nadu has the most lakes.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

60.

61.

62.

63.

64.

65.

66.

fREfafad sl R R =

1. ASTER START el IHeciied AERITR Hl 38t TAURT &1

2. Thichals STAYURT Ueh T STl YRT & ST &f&¥0r Uiid HErER
7 fReft & de R I8l 81

IR U U el & @ e 91/ I8 8/8?

(a) haeT 1

(b) et 2

(c) 1 3R 2 gt

(d)yFdt1 a2

& It ofaRer Toidl "vier-3 A" @ defda g, e st &
tuguedt ©R di-a fohar stTem?

(a) J=pirg

(b) i/ 3T

(c) $uEy

(d) STy

2023 ¥ fay gt fegs o1 e fog A 82

@ "R TEgs 8"

(b) " U T S Tg TR AR "

(C) "UAeh T R hig GHRY Geat o foIy ehrae et 8"
(d) "g9R Ug & g "

ITR-Yd ¥R 1 Ugell Gr foha <rge & wifira fomar mar ar?
(a) <hifeAT

(b) TaTeTeY

(c) TR

(d) Shrer

et €1 e g w3 aifier 2img g o o & "argsie fdetet
qmE' [ foar Tam?

(a) STSUTTA R

TH STTUMT & SR, 2022 deh 9Ra H fhda ok ama gih?
(a) 2767
(b) 2945
(c) 3167
(d) 3269

3ieT 2023 # ST QAfeT BT gRT SR "STeT fAehr: ggett

ot Rud" R FR=faf@a 8 @ &9 a1 puq "agt” §/82

1. &1 & TR, T ek ATl 3R STerRd aret st

& it 7 ufgw s M R E

2. Sfeh sty wesr (ght) # g ifds a1 g1 €, aferg
# gad arfere 3fid &1

=2 g 71q Fle &1 IUTNT ek Tt IR A

(a) haeT 1

(b) haet 2

(c) 1 3R 2 gt

(dysat1siRag2

L1y J MAADH

CALL: 0522-4623578

. 9911999187
www.maadhyamias.in
Lucknow Center - B-1/18, Sector-H, Puraniya Chauraha,
Near Mahalaxmi Sweets, Aliganj, Lucknow-06024 (U.P.)

World + Indian Geography + Census +
April Current Affairs 11



67.

68.

69.

70.

71.

72.

Which of the following statements regarding the Green
Organisation's Green World Awards 2023 in April 2023
is/are "correct'?

1. At the Green World Awards 2023, Vedanta Limited
received the Global Gold Award in the area of
environmental policy and management.

2. In the environmental policy category of the Green
World Awards 2023, Delhi Metro Rail Limited took
home the Global Silver Award.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements regarding the recent

(April "23) inaugurations of the Prime Minister (PM)

Narendra Modi in Dadra and Nagar Haveli and Daman

and Diu is/are "Correct"?

1. In Silvassa, Dadra, and Nagar Haveli, the nation's
development projects totaling more than Rs 4850 crore
were officially opened by Prime Minister Narendra
Modi.

2. According to the PM, a new 900-bed hospital is being
built in the UT, and a new Homoeopathic hospital has
been given clearance.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

‘What nation has joined NATO as the 31st member?
(a) Sweden

(b) Brazil

(c) Finland

(d) South Korea

How much has the World Bank reduced India's growth rate
from 6.6% to F'Y2024?

(a) 6.30

(b) 6.20

(c) 6.40

(d) 6.10

Which African nation will launch the first Earth observation
satellite to be used for real-time monitoring?

(a) Nigeria

(b) Kenya

(c) Zimbabwe

(d) Morocco

‘Which nation did India announce would become the "Net
Zero" Innovation Virtual Centre?

(a) UK

(b) France

(c) Germany

(d) USA

67.

68.

69.

70.

71.

72.

3t 2023 # a1 gRa w1 & M acd srarsy 2023 & day A

fFefafea 3 @ a9 a1/3 wu= "8 /82

1. 19 a2 srargy 2023 #, deiar ferfids ot wafazor Hifq ok
geed & &7 § Teltad Ties AT Ae |

2. 9 aed srargy 2023 Fi yafaror Hifa goft 7, et A¢ 3
fafies 3 e Reer s@rs Sfiar

12 g 7Tq e 1 IUTHT ek e IR A

(a) a1

(b) Thaat 2

(c) 18R 2 g+t

(dyaar1sRRagr2

E1eX 3R TR gdelt 3R e+ dg &g & ueH i (dieg) g
Y 3 giferan (31 '23) IgTed & ey § REfifad d @ e
1 hYT "HE" 8/8?

1. 331 o RAeamT, a6 3R TR gaet & $d 4850 AT U
T arfden F faera uRaisrreT @1 snfderRes dR R va=
HA R, A gRT IgTe fohar mam|

2. digH & qdrfae dws MR T3 # 900 S T 79T ST
FTIT ST TET & T Teh 94 gHaTaideh SIUdTel ST hl Holdt
GE R

2 f&T 1Y s 1 ITTNT ek ot IR A

(a) haet 1

(b) haret 2

(c) 1 3R 2 gt

(d)ysdt1 a2

& 1 31 319 &R & &4 | A1el 7 A gor 8?2
a) @i=q

WEINIE]

c) fheis

d) fgror sifar

Oy §& 3 YR &Y TP &R @ 6.6% T HeTas FY2024 &
fora e fear &2

(a) 6.30

(b) 6.20

(c) 6.40

(d)6.10

I 7 STk &1 ardafaes gug &t fATREY & fory swme gia
T UgAT Yot STaelich] SUUE dAl=d H?

(a) ArgSiRar

(b) &=

(c) Farad

(d) HReent

WRd 7 fohg a1 F "2 SR A aE3reT e s h arwon
&Hr?
(@) goh

(b) Wi
(c) ST

(d) Ig&y

(
(
(
(
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73.

74.

75.

76.

71.

Which state has officially launched the "One Panchayat
One Play Ground" initiative?

(a) Haryana

(b) Uttar Pradesh

(c) Kerala

(d) Madhya Pradesh

‘Which of the following statements on the "Trends in World

Military Expenditure, 2022' report published by SIPRI

(Stockholm International Peace Research Institute) in April

2023 is/are "correct"?

1. With a military budget of USD 86.2 billion, India was
the third-largest spender in the world in 2022.

2. The second-largest global spender, China, was included
after the United States at the top of the list.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements regarding the Global
Unicorn Index 2023 published by the Hurun Research
Institute in April 2023 is "incorrect"?

1. India is listed as having 58 unicorns, placing it fourth on
the Global Unicorn Index 2023.

2. China came in second place with 316 unicorns, trailing
the United States of America (USA) at the top of the
index with 666 unicorns.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements regarding the "India
Digital Payments Annual Report 2022" published by
Worldline India in April 2023 is/are "correct"?

1. The Unified Payments Interface (UPI) will continue to
be India's top digital payment method in 2022,
according to the survey.

2. With Rs 6,500 crore in digital transactions in 2022, New
Delhi would come in first place among Indian cities,
followed by Bengaluru (Karnataka).

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Who was the first female Air Force officer to receive the
"Gallantry Award"?

(a) Avani Chaturvedi

(b) Bhavna Kant

(c) Minakshi devi

(d) Deepika Mishra

73.

74.

75.

76.

77.

forg 5T A enfderIRer IR W "Ueh YaAd Tk @ bl AeE"

U {[F ol 872
(a) gRaron (b) SR TR
(c) =T (d) Tem uear

3fe 2023 # SIPRI (RidhgH gexavHa g Rud $&iaye)
ZRT UeRTid 'y &= =g | =1, 2022 Ruié wr Fefafaa
# & &l w1 hyA a9 8/8?
1. 86.2 fafcra smReI Sfer & & Fwie & 1Y, YRa

2022 7 g § A= 998 91 07 e aTell 327 T
2. ORI G 81 AfYeh < et ATl i § STafch S Isd

3mRent gt & ofif TR 1
12 f&g 7Y s 1 ITANT ek et IR A
(a) charet 1 (b) e 2
(c) 1 3R 2 &t (dyTar1siRag2

el 2023 # go Rusl SEISE gRI TehlId welteel gienl
3399 2023 & day # Am=fafad # @ oo 91 hye "Ted” 82
1. Rd I 58 Gfreni+t o 1Y Gelarg fomar T 8, Sit 3 =
I UR QT 8 eiad g+ §8e 20231
2. 316 gfAehi- o TTY GER VI TR g Safh
Ggord 5T SR (JUag) & ofit @ w @
666 gf-Iehl+ o 1Y Gahich |
12 faT 7Y Sls 1 ITINT hch Tet IR A
(a) e 1
(b) eheret 2
(c) 1 3R 2 &Hf
(d)Fat1 3R 2

31ieT 2023 H Fcseiied Sfsam gRT UehtiRd "sfear fefoiet ddecq

ggere RUlé 2022" & dedy A f=fafad # @ &F a1 &=

"ol 882

1. A& & FFHR, YAHIES G Sy (UPI) 2022 # 9Rd
& 2 FefSieet s gomeft s+t Bt |

2. 2022 # 6,500 T ¥4 & fefSiead e & 4y, I8
feeeft Rt 216l A Uget @ W g, 3% 9 dw
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82.

83.

Which state received the national award for the Pradhan
Mantri Fasal Bima Yojana's best implementation?

(a) Uttar Pradesh

(b) Maharashtra

(c) Tamil Nadu

(d) Karnataka

Under the "National Quantum Mission," how many crores
of rupees have been approved?

(a) 6,000 Crore

(b) 5000 Crore

(c) 4000 Crore

(d) 3000 Crore

‘Which city in India has the first Apple store opened?
(a) Mumbai

(b) Pune

(c) Noida

(d) Bangalore

Which state creates a DNA database first so that
unidentified dead remains can be identified?

(a) Himachal Pradesh

(b) Uttrakhand

(c) Kerala

(d) Tamil Nadu

Which of the following statements on the 36th Asian

Wrestling Championships, which will be held in Astana,

Kazakhstan, in April 2023, is/are "correct"?

1. Aman Sehrawat defeated Kyrgyzstan's Almaz
Smanbekov to win India's first gold medal in the men's
57 kg freestyle division.

2. India is ranked fifth overall in the medal standings with
10 medals (one gold, three silver, and six bronze).

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements regarding the recent
(April '23) inaugurations in Kerala by Prime Minister (PM)
Narendra Modi is/are "correct"?

1. The first water metro in India was built in Kochi
(Kerala) by the Cochin Shipyard, and the first Vande
Bharat Express in Kerala ran between
Thiruvananthapuram and Kasargod.

2. The PM also dedicated the first digital science park in
India in Thiruvananthapuram, which will help advance
digital India.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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‘Whose last three nuclear reactors were recently shut down?
(a) France

(b) UK

(c) Japan

(d) Germany

Which nation has surpassed others as India's top trading
partner?

(a) USA

(b) China

(c) Russia

(d) UK

The bridge built by India was opened in which nation by
External Affairs Minister Dr. S. Jaishankar?

(a) Mozambique

(b) Kenya

(c) Nigeria

(d) Ghana

The first 3D-printed post office is being built in which
Indian city?

(a) Bengaluru

(b) Chennai

(c¢) Mumbai

(d) Pune

The transgender community recently received OBC
classification from which state government?

(a) Madhya Pradesh

(b) Rajasthan

(c) Chattisgarh

(d) Jharkhand

In which state did the India Justice Report 2022 rank
highest?

(a) Uttar Pradesh

(b) Kerala

(c) Tamil Nadu

(d) Karnataka

‘Which bank just launched its first location specifically for
startups?

(a) Bank of Maharashtra

(b) Bank Of India

(c) Bank Of baroda

(d) State Bank of India

‘Which among the following is called the year of the great
divide in the demographic history of India?

(a) 1921 (b) 1931

(c) 1941 (d) 1951

According to census 2011 which of the following religions
has the highest sex ratio?

(a) Islamic

(b) Jainism

(c) buddhism

(d) christianity
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100.

Which of the following is/are correctly matched with
respect to Indian census 2011

1. Density * 383
2. Child sex ratio * 919
3. Opverall literacy rate * 74.4%

Select the correct answer using the code given below:
(a) 1,2 and 3

(b) 1 only

(c) 2 and 3 only

(d) 3 only

Which state of India has negative population growth rate as
per census 2011

(a) Sikkim

(b) Assam

(c) Nagaland

(d) Manipur

‘Which among the following pairs is not correctly matched
(a) Uttar Pradesh: state with highest SC population

(b) Bihar: state with highest ST population

(c) Delhi: UT with highest SC population

(d) Lakshadweep: UT with highest ST population

As per census 2011 what is the percentage of the population
in up to population of India
(a) 16.51
(c) 14.12

(b) 15.52
(d) 13.78

According to the census of 2011 what is the percentage of
child population in Uttar Pradesh population?

(a) 15.4 (b) 15.52

(c) 16.15 (d) 13.78

Which district of U.P. has experienced highest population
decadal growth between 2001 and 20117

(a) Allahabad

(b) Ghaziabad

(c) Gautam Buddha Nagar

(d) Kanpur

The highest sex ratio and the lowest sex ratio of UP are
respectively according to the 2011 census is

(a) Jaunpur and banda

(b) Jaunpur and Gautam Buddha Nagar

(c) Baghpat and Mahoba

(d) Gautam Buddha Nagar and Shravasti

Arrange the slum population in Uttar Pradesh from
increasing to decreasing order according to the 2011 census.
(1) Meerut

(2) Agara

(3) Kanpur Nagar

Select the correct answer from the codes given below

(@ 1,2,3

(b) 3,2,1

(c) 2,3,1

(d1,3,2
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Which state of India has the highest percentage of rural
population according to 2011 census

(a) Bihar

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Rajasthan

‘When did the census 2011 release the religion data
(a) 2011
(b) 2012
(c) 2015
(d) 2013

Which district has the highest percentage of population in
the age group of 0-6 years

(a) Bahraich

(b) Baghpat

(c) Sonbhadra

(d) Sitapur

The following Million Cities of U.P. in terms of their
population (2011) is?

(a) Lucknow, Kanpur, Varanasi and Hapur

(b) Lucknow, Kanpur, Agra and Gorakhpur

(c) Kanpur, Lucknow, Ghaziabad, Agra and Varanasi

(d) Kanpur, Lucknow, Varanasi and Bareilly

Which of the following statement is not correct as per 2011

census of india

(a) The first census in India was started during the tenure of
lord mayo.

(b) Its highest authority is Registrar General and census
commissioner of India.

(c) Census 2011 is the 6th census of independent India

(d) In 2011, the 15th Census data was presented.

With reference to the 2011 census, consider the following

statements

1. Uttar Pradesh and Bihar were the largest source of inter
state migrants.

2. Delhi and Mumbai are widely considered migrant
magnets.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both

(d) None of these

With reference to the 2011 census, consider the following

statements

1. In the period from 2001 to 2011, the decline in the
decadal population growth rate in Uttar Pradesh was
less than the national level.

2. If Uttar Pradesh is considered as a country, then it has
become the 8th most populous country in the world.

Select the correct answer from the codes given below

(a) 1 only (b) 2 only

(c) Both (d) None of these
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With reference to the 2011 census, consider the following

statements

1. In Uttar Pradesh the first population policy was
constituted in 2000.

2. The female - male population ratio in UP was 912.

Select the correct answer from the codes given below

(a) lonly

(b) 2 only

(c) Both

(d) None of these

With reference to the 2011 census, consider the following

statements

1. A person of the age of 6 who can understand, read and
write in any language will be counted as literate.

2. Bihar has the lowest literacy rate in India.

Select the correct answer from the codes given below

(a) 1 only

(b) 2 only

(c) Both

(d) None of these

With reference to the 2011 census, consider the following

statements

1. Census is conducted under the provisions of the Census
Act, 1950.

2. The census act makes it obligatory on the part of every
citizen to answer the census question truthfully.

3. The information collected during the population Census
is accessible to the courts of law.

Select the correct answer from the codes given below

(a) 1,3 only

(b) 2 only

(c) 3 only

(d) 2,3 only

According to the 2011 census, in which year the decadal
growth of Uttar Pradesh was negative?

(a) 1911-1921

(b) 1921-1931

(c) 1931-1941

(d) 1941-1951

According to census 2011 Which district has the highest
percentage of urban population?

(a) Agara

(b) Meerut

(c) Ghaziabad

(d) Kanpur Nagar

According to the 2011 census, the percentage of Scheduled
Tribes in the total population of Uttar Pradesh is

(a) 0.6%

(b) 0.7%

(c) 0.8%

(d) 0.9%
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115.
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According to the 2011 census, Districts without Scheduled
Tribes in Uttar Pradesh are

(a) Ayodhya and Jalaun

(b) Meerut and ayodhya

(c) Allahabad and ayodhya

(d) Lucknow and jalaun

According to the 2011 census, where does the maximum
Muslim population live in Uttar Pradesh?

(a) Rampur

(b) Sonbhadra

(c) Ghaziabad

(d) Kannauj

Which of the following district has a lowest population
density in Uttar Pradesh

(a) Rampur

(b) Mahoba

(c) Lalitpur

(d) Ayodhaya

The districts with highest and lowest child sex ratio
respectively in Uttar Pradesh as per 2011 census are

(a) Balarampur and Baghpat

(b) Baghpat and Jaunpur

(c) Jaunpur and Shravasti

(d) Balarampur and Shravasti

What is the place of Uttar Pradesh in the total slum
population of the country?

(@)1

(b) 2

(©3

(d) 4

According to 2011 census, the highest female population is
found in Uttar Pradesh:

(a) Allahabad

(b) Kanpur Nagar

(c) Moradabad

(d) Jaunpur

According to the 2011 census, the sex ratio of Uttar Pradesh
has increased by how many points?

(@11

(b) 12

(c)13

(d) 14
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Consider the following statements with respect to

India:

1. Actual distance measured from the north to
south extremity of India is 32144 km.

2. Standard Meridian passes through 82°30' E
longitude.

Which of the above Statement(s) is/are Correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following Statements:

1. Kashmir Himalayas are famous for Karewa
formations and the Cultivation of Zafran.

2. Bugyals are winter grasslands in the higher
reaches of the Himalayas.

3. Dun formations are a prominent feature in the
Northern Himalayas.

Which of the above statement(s) is/are Correct?

(a) 1and2 only

(b) 2 and 3 only

(c) 1and 3 only

(d 1,2and 3

Which of the following state is Known as the
Molasses basin?

(a) Nagaland

(b) Manipur

(c) Mizoram

(d) Tripura

Consider the following statement/s with respect to

the Northern plains:

1. Bhabar is a narrow belt where rivers and
streams deposit heavy materials of rock and at
times disappear in this zone.

2. South of the Tarai belt is an alluvial belt
consisting of old and new alluvial deposits
known as khadar and bhangar respectively.

3. Sand bars, meanders, oxbow lakes and
braided channels are the characteristic
features of the Northern plains.

Which of the above statements is/are correct?

(a) 1and 2 only

(b) 1and 3 only

(¢) 2and 3 only

(d) 1,2and 3

Consider the following statements:

1. Rajmahal hills in the east and cardamom hills
in the South constitute the outer extent of the
Peninsular plateau.

2. Doddabetta hills on the Nilgiri hills is the
highest peak of the peninsular plateau.

3. The Bhima fault is important because of its
recurrent seismic activities.

Which of the above statement(s) is/are Correct?

(a) 1and 3 only

(b) 2 only

(c) 3 only

(d 1,2and 3
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fA=fafEa sy &R foaR &2

1. SR fRHTeT war G- 3R ST (haR)
FHr Qdt & fog ufdg 21

2. g Ao & & gl # Gfddl & ue &
AEH B

3. I g | g Uah uiE fasivar g1

IR # @ 9 I1/9 Sy Tgl /82

(@) 13R2

(b) 23R3

(c) haet 1 3R 3

(d) 1,233

fafafed 7 @ fag =g & Mg 3R & wu o
ST STTdT 87

(a) TS (b) AR

(c) fasim (d) Bgr

I Al & dee B F=fafad sael R AR o

1. TER Ueh Tehdl UET & STgf Afedl SR 4RI¢ Tg &
IR} IRt ST el & 3R s IR 39 &5 § T
gl STt 81

2. E §eT & QU F Yk STelle o g fed /A
3R U STelte ST 8id & s shasn @R 8k
IR & Y & STHET ST 8

3. 3 Ry, fagd, TR s ok Tjfthd IHa It
Aemt i fagiwar g1

IR YAl | G hi9-T1/3 9l 8/8?

(a) dhaad13iR2

(b) haer 1 3R 3

(c) a2 3R 3

(d) 1,233

fAafafaa sy R fdaR &2

1. ud & Iomigd & ugttear ofR aferor § samt &
UgIfsat uragidia usR &Y aredt e a4 &1

2. dafft ugifedl W Sigeg R o
USSR hl e &t Tid g

3. T ¥y SRAR ol wfafdfadi & wRor
gyl g1

IRIad & T i T1/9 U Tgl /87

(a) dad 133

(b) haet 2

(c) &ad3

(d) 1,2 3R 3
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127.

128.

129.

Consider the following statements:

1. The Western Ghats and the Eastern Ghats
meet at Nilgiri hills.

2. Kunchikal waterfall is the highest waterfall in
India.

3. The famous Sabarimala temple is situated in
the Periyar tiger reserve through which the
pamba river passes.

Which of the above statement(s) is/are Correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3

Consider the following statements with respect to

the Northeastern plateau:

1. Meghalaya plateau despite being an extension
of the Main peninsular plateau is devoid of
mineral resources like uranium, iron ore, coal
etc.

2. As the Northeastern plateau area receives
maximum rainfall from the South West
monsoon, the Meghalaya plateau has a highly
eroded Surface.

Which of the above Statement(s) is/are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

Consider the following statements with respect to

the Indian Desert:

1. In the Thar region, the shifting sand dunes are
locally known as Dhaya.

2. Thar desert is a monsoon-driven desert where
wind erosion is a major problem during summer.

3. Thar desert spread across the states of
Rajasthan, Gujarat, Punjab and Haryana.

Which of the above statement(s) is/are Correct?

(a) 1and 2 only

(b) 1and 3 only

(¢) 2and 3 only

(d) All of the above

Consider the following statements with respect to

Coastal plains:

1. Western coastal plains are examples of
Submerged coastal plains whereas Eastern
coastal plains are examples of emergent coastal

plains.

2. Western coastal plains are broader in the
middle and narrow in the North and south
whereas Eastern coastal plains are overall
broader in general compared to western coastal

plains.

3. ’Kayals' are the distinguished features of the
Malabar coast.

Which of the above statement(s) is/are Incorrect?

(a) 1and 3 only

(b) 2 only

(c) 3 only

(d 1,2and 3
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128.
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fFafafed sy R AR

1. ofge T ok gdf g HafR ugifsal w fed
gl

2. Piehel STAYUTT Rd T Ja9 $aT TavuTd &

3. URg gakmTer #feR AR agR Red # f@a @
e uvar 98 ToRdt 81

IRITd § T o9 T1/3 Sy Tgl /87

(@) dad 1R 2

(b) Faa2 3R 3

(c) dhaad 13R3

(d) 1,23MR3

ITRYT UaR & ey A AfefEd syl wR R &

1. &I UM UsR &1 fOdR g & dEsa
AU T USR JRATH, g RIh, el e
Gt TaTeEt 4 R B

2. df% gaRR Us &5 cf@ur ufgw AmgE &
3fehas auf UTd T §, 39feI HUTed USSR 6l
g ek ARG 81

SWId # & & 91/3 &y 98 8/8?

(@) aa 1

(b) Fad 2

(¢ 13fR23H

(d) ST A A off 78

AR A & Heiy 7 Ffafed syl R AR &

1. ¥R &7 H, ead 3 & Sl ol R 9 & 9rar
& FH 9§ STHET ST 8

2. 4R o TA AHYA Hdlfeld AR g Sigl
Tt & SR §aT ST STURE Udh I3t G 8

3. YR I AILIA ST, ToRId, USTe 3R gRarom
gl H Urell g1 81

SWRIad # § & 91/3 &y 98 8/8?

(a) haer 1 3R 2

(b) aet 1 3R 3

(c) whaer2 3R 3

(d) SR & gaft

JET Al & d9y § fAmfafaa dual R R &

1. uffdt T A<M STamE adg Al & ISTE0T §
Sidfeh gl ¢l #eM IWRd gU acld AeHl &
IETERT B

2. ufydt o A meg F R ok IR ok gfgur A
Tep & Sidfch gal aeia Aar ufget aéia e &t
eI H §HY &Y § 41U gl

3. &I ATIER de & fafre fasivard g1

SWRIT H & ohiH T1/ YA 7Teid &/8?

(@) shad 1 3R 3

(b) haat 2

(c) %aet3

(d) 1,28k 3
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Consider the following Statement:

1. Baratang Island is the only known example of
a mud volcano in India, called locally “jalki”.

2. Neil Island has been named Netaji Subhash
Chandra Bose island recently.

Which of the above Statement(s) is/are Correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

With reference to Tropic of Cancer, Consider the

following statements:

1. The Tropic of Cancer passes through the
central part of India in east-west direction.

2. The region of Tropic of Cancer experiences
extreme climate with high daily and annual
range of temperature.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2

Consider the following pairs:

Biosphere Reserve States/UT

1. Pachmarhi Chhattisgarh

2. Seshachalam Andhra Pradesh
3. Similipal Odisha

Which of the pairs given above is/ are correctly
matched?

a) 1and2 only

b) 2and 3 only

c¢) 2only

d) 1,2and3

Which of the following factors determine the
climate of India:

1. Distribution of air pressure and winds

2. Distance from the Sea

3. Physiography or relief of India

4. The inflow of western cyclones

Select the correct option using the code given below.
(a) 1and 3 only

(b) 2,3 and 4 only

() 1,2and 4 only

(d 1,2,3and 4

With reference to Biosphere Reserve, consider the
following statements:
1. It is a unique and representative ecosystem of

terrestrial and coastal areas which are
internationally recognised within the
framework of UNESCQ’s Man and Biosphere
(MAB) Programme.

2. India is a signatory to the landscape approach
supported by the MAB programme.

Which of the statements given above is/are correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2
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134.

fA=fofEa vy = AR &1

1. SRE g9 9YRd & g & SaemgE! a1 gea
9 ISE0T 8, O WHT ®9  "STerhl" gl
Sar gl

2. T Z9 &1 9 g1 g | ATl gHTY I 919 g1
G AT gl

SWied ¥ 9 i 91/3 Y- Tgl 8/87?
(a) ae 1 (b) et 2
(c) 1 3R 2l (d) 378 9 SIS off 7t

heh @1 & TeH 7 Afofad el w foar fifer:

1. h W YRd & A WA § gd-ufgw feam #
ToRe 81

2. & @ & &7 I FAd IR aiftfer araAE &
T TRHA ST T AT el 8

IWR foU U FYl & T i 1/ TGt /87

(a) a1 (b) Faat 2

(c) 13fR2am (dyFar1aiRag2
fAfafed gml R R HifSg:

TR R et S [ dhganfia uder/gd
1. OEHE ------ SEE

2. AT ---- 3778T T&LT

3. fafafad---- anfaam

SR g g gt & & i-a1/9 Tel gaferd 8/8?
(a) dad 1R 2

(b) dad2 3R 3

(c) haa 2

(d) 1,233

fAfafad # @ &9 9 R YR 6 STerarg i FaiRa

& &

1. argerd SR garsi o faaror

2. O

3. 9Rd o Himifere AT a1 ITaag

4, ofgHY Iehardi 6t smgfa

2 f&Q 1Y e 1 v R Tet e R 9aH ]|
(@) haet 18R 3

(b) thad 2,334

(c) thaa 1,234

(d) 1,2,33R4

FAEARR Red & e & AmfefEa syl R far

ANk

1. I8 el 3R a1 &t a1 Yah SrgeT ok ufafafa
gTRfRAfahT 3 & O gawnt & 89 U TRehRR
(THUE!) PRhH & SFdid AP TR W
AT U g

2. ¥Rd UACH wrichA gRT gafdd dewhy gt
T gXATeRGd! g

IWR feU U Al & T i I1/T TGt /87
(a) %had 1 (b) ehereT 2
(c) 1 3R 2l (d)yTat1sikag2
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Consider the following features:

1. There is no definite time for trees to shed their
leaves

2. They are found in warm and humid areas

3. Species found in these forests include
rosewood, mahogany and ebony.

The above mentioned features defines which types of

forest?

(a) Montane forests

(b) Tropical Evergreen
Forests

(c) Tropical Thorn forests

(d) Littoral and Swamp forests

and Semi Evergreen

Which among the following factors affects the
formation of soil:

1. Parent material

2. Vegetation

3. Life-forms and time

4. Soil texture

Select the correct answer using the code given below.
(a) 1and 3 only

(b) 2 and 4 only

(c) 1,2 and 3 only

(d 1,2,3and 4

Consider the following statements with reference

to Laterite Soil:

1. The soil has high humus content.

2. [Itis deficient in iron oxide and potash.

3. The soils develops in areas with high
temperature and high rainfall.

Which of the statements given above

Incorrect?

(a) 1and 2 only

(b) 2 only

(¢c) 2and 3 only

(d 1,2and 3

is/are

Consider the following features:

1. The soil is rich in potash but poor in
phosphorus.

2. The soils are loamy and clayey in the lower
and middle Ganga Plains.

3. These are depositional soils.

The above mentioned features is the description for

which of the following type of soils?

a) Yellow soils

b) Black soils

¢) Alluvial soils

d) Laterite soils

Which one of the following forest is the most

widespread in India?

(a) Tropical Thorn Forests

(b) Tropical Deciduous Forests

(c) Montane Forests

(d) Tropical Evergreen and Semi
Forests

Evergreen
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fAfafea Rwarst o faer &R:

1. g&ii & Ut R o1 i fAfga awa =&l glar @

2. T 3R 99 & § uTe ST €

3. 39 gl & 18 S areft geifaat & sfiem, Agit
3R e A Bl

Iwer fARITaTd fohe UehR & gt @t R et 872

(a) gadmaq

(b) SwTRieE T eTaER 3R 31l TTagR I

(c) IWrhieaiT BideR av

(d) & 3R gereett a=

71 & @ ol 91 Rek A & a7 Sl mefaa s &
1. oo g

2. ga@fa

3. Sftaa-wu 3R &

4., A HreamEe

2 &Y 7Y e 1 v R Tt SR gFTl

(a) Fad13iR3

(b) daa2 3R 4

(c) daa1,23R3

(d) 1,2,33R4

dexrse At & deof A Fefaf@a syl R AR &R
fAgr & g <t wr 3iferes gl 81

2. STH IMRA 3iiaarss 3R ulerr &t &t gidt g1

3. I dUAM R I auf aTet &A1 | fHg) a1 faw™
idT 5|

IR foU U Ryl § T i 1/ Terd 8/87?

(@) had 1 3R 2

(b) haa 2

(c) haer 2 3R 3

(d) 1,233

frafafea fagwarst w foar &R

1. g & dterxr di amn ifdes gidl § dfchd wremiRg
&t AT gt 81

2. T ek et 8RR e Al d gt dive ok R
gl 81

3. AU ged gl

o fagiwarg Fefofea 7 9 forg uer 6t gt @

guiq &7

(a) dicht gt

(b) et gy

(c) Sieitg gt

(d) e=rse g

f=fafad # & &l 91 99 YRa # T8 sifden Ghett gan
&

(a) SWrehfeaefig shicer T

(b) Iwrenfesehta gofurdt g

(c) gddimaa

(d) Iwrehfesefty eEgR 3R 3¢ YeegR av
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140. Consider the following statements with reference
to Inter Tropical Convergence Zone (ITCZ):

1. It is the region that circles the Earth, near the
equator, where the trade winds of the
Northern and Southern Hemispheres come
together.

2. The latent heat released in the ITCZ is critical
to the atmospheric energy budget.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 Nor 2
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